4

THIS DRAWING 1S UNPUBLISHED.

RELEASED FOR PUBLICATION

20

(C) COPYRIGHT 20

BY

- TE INDUSTRIAL

ALL RIGHTS RESERVED.

M8 X
(HARD

L >

Al

26.740.5
$58.2£0.5 —_

2X M5 MOUNTING BOSS
MOUNTING HARDWARE(NOT SUPPLIED)

2X M5 BOLT
2X M5 LOCKWASHER
2X MO NARROW WASHER

.25 POWER TERMINALS
WARE SUPPLIED)

WHITE,

)
(
|

N

14+

"+" POSITION TERMINAL

A\

AUXTLTARY CONTACT

RED,
Ei;;;;rBLACK

12.3+£0.6
55.8+0.6

12.71+40.25

|—

)

~—380.5%£0.5

AZ n_

\\\\\\\\ECONOMIZER [S INSIDE

H+H COIL

no_n C(>

——— 52+0.5

" POSITION TERMINAL

A\

NOTES:

REVISTONS

DESCRIPTION

DATE

APVD

A RELEASE 06SEP2016 | X.Z |S.?
B ECO-18-016894 combine QR code to label 250CT2018 | T.Z |XN./
B Add 3C LOGO ECO-20-016235 25N0V2020 | T.Z [XN.Z

/I\ HARDWARE 1S SUPPLIED IN KIT

2X M8 WASHER,

2\ =
STAINLESS
STAINLESS

2X M8 LOCKWASHER-SPOT RING,

2X MBXT.25 NUT,

STAINLESS

ZiBXLABEL, QR CODE PRINTED CONTENT.

MMYY-00T1,PPPPPPP, 0001

i

Zf}; LEAD WIRES:

UL3321, 22AWG
LENGTH = 380MM

+ 20MM

COTL LEAD WIRE
COLOR: BLACK

THE TYPE WITHOUT

ECONOMIZER ATTACHED

L SSERTALS NUMBER(1~9999)

PRODUCT NUMBERCT-7-1)
MANUFACTURING BATCH NUMBER(1~999)
YEAR OF MANUFACTURECLAST 2 DIG OF YEAR)
MONTH OF MANUFACTURE (MONTH)

THIS DRAWING IS A CONTROLLED DOCUMENT.

DWN
XN. 7HANG

06SEPZ0T6

CHK

DIMENSIONS:

TOLERANCES UNLESS

=TE

TE Connectivity

OTHERWISE SPECIFIED: APVD

06SEP2016 |Name

[RV200 SERIES PRODUCT

SIZE CAGE CODE | DRAWING NO

mm SUNNY /HANG

0 PLC 4- PRODUCT SPEC
1 PLC +0. 1
2 PLC +0.01
3 PLC +0.001 APPLICATION SPEC
4 PLC +0.0001
ANGLES +-

MATERTAL FINISH WEIGHT

Al -

RESTRICTED TO

C=2071410 -

CUSTOMER DRAWING

SCALE

SHEET OF

[ | 2

REVE%W

1470-19 (3/13)




4 ‘ 3 2 |
THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION 20 R EV IS IOP@S
<:> COPYRIGHT 20 By - TE INDUSTRIAL fLURIOHTS RESTRVED. P LTR DESCRIPTION DATE DWN APVD
LABEL PRINT CONTENT DEE SHEET
SCALE 4:1
(. —. BN
[ = B = |
1 * * I§
-y
Cl INA (= N
RELAY. HV200AAANA }-|
PIN 2071410 1 I PRODUCT NAME
-—--—I‘S\
c € “ ——PART NUMBER
Coil: (12-24VDC- %7 ™o*s
“EE}---_____________________“‘-‘-4447
COIL VOLTAGE RANGE
ECONOMIZER LATTACHED
AR =t ——FCONOMIZER STATE B 3
\\nggsclfx\ [SIMZQ_I UNATTACHED | NORMALLY OPEN 12 VDC ITHV2O0O0H3ANA | 3-2071410-3
~ UNATTACHED | NORMALLY OPEN|48 - 12 VDC | IHVZ200H2ZANA | 3-2071410-7
UNATTACHED | NORMALLY OPEN| 12 - 24 VDC | IHVZ2Z00HTANA | 3-2071410-1
ATTACHED NORMALLY OPEN 12 VDC IHV200HJANA | 2-2071410-3
Ak MANUFACTURING FACILITY CODE
PRODUCTION DATE "YYWW ATTACHED |NORMALLY OPEN|48 - 72 VDC | IHV20OHDANA | 2-2071410-2
ATTACHED NORMALLY OPEN| 12 - 24 VDC| IHV200HAANA | 2-2071410-1
UNATTACHED NONE 12 VDC ITHV200A3ANA [ 1-2071410-3
UNATTACHED NONE 48 - 12 VDC | ITHV200A2ZANA | 1-2071410-2
UNATTACHED NONE 12 - 24 VDC | ITHVZ200ATANA [ 1-2071410-1
ATTACHED NONE 12 VDC ITHV200AJANA 2071410-3
ATTACHED NONE 48 - 172 VDC | IHVZ200ADANA 2071410-2
ATTACHED NONE 12 - 24 VDC | IHV200AAANA 2071410-1
ECO. STATE | AUX. CONTACT |COIL VOLTAGE|IPRODUCT NAME| PART NUMBER
THIS DRAWING IS A CONTROLLED DOCUMENT. [DWN -
m} -G :’7‘5' TE Connectivity
DIMENSIONS: TOLERANCES UNLESS _
OTHERWISE SPECIFIED: APVD - | NAME
mm - -
~ PRODUCT SPEC
O [HV200 SERIES PRODUCT
2 PLC +0.01 -
@E 3 PLC +0 001 APPLICATION SPEC
4 PLC +0.0001 SIZE | CAGE CODE | DRAWING NO RESTRICTED TO
ANGLES +-
MATERIAL FINISH WEIGHT /x :3 _ QiEE:]E 071410 _

CUSTOMER DRAWING

SCALE SHEET

OF

2 REVB W

1470-19 (3/13)




	Sheet 1
	Views
	new_view_26
	left_28
	top_30
	new_view_32


	Sheet 2
	Views
	new_view_35



